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ERID 

(simplified to LERS-LEM2 like algorithm) 
(with minimum confidence threshold)
System S:

	
	a
	b
	c
	d

	x1
	a1
	b2
	c1
	d1

	x2
	a3
	b1
	
	d1

	x3
	a1
	b2
	c2
	d2

	x4
	a1
	
	c1
	d2

	x5
	a2
	b1
	c1
	d1

	x6
	a3
	b2
	c2
	d2


Dom(a)
= {a1, a2, a3}  -  classification attribute
Dom(b)
= {b1, b2}  -  classification attribute
Dom(c)
= {c1, c2}   -  classification attribute 

Dom(d)
= {d1, d2}  -  decision attribute
Assume minimum confidence threshold:  (  =  ¾.
Classes related to attribute d:
d1*
= {x1, x2, x5}

d2*
= {x3, x4, x6}

First loop:
a1*
= {x1, x3, x4}
conf(a1* ( d1*) = 1/3 ( (  (not marked)







conf(a1* ( d2*) = 2/3 ( (  (not marked) 

a2*
= {x5}


a2* ((d1*     marked
a3*
= {x2, x6}

conf(a3* ( d1*) = 1/2  ( (  (not marked)







conf(a3* ( d2*) = ½  ( (  (not marked) 
b1*
= {x2, x5}

b1* ((d1*     marked 
b2*
= {x1, x3, x6}
conf(b2* ( d1*) = 1/3 ( (  (not marked)







conf(b2* ( d2*) = 2/3 ( (  (not marked)
c1*
= {x1, x4, x5}
conf(c1* ( d1*) = 2/3 ( (  (not marked)







conf(c1* ( d2*) = 1/3 ( (  (not marked)
c2*
= {x3, x6}

c2* (( d2*   marked
Rules from the first loop:


a2 ( d1   with  conf  = 1,  sup = 1.

b1 ( d1   with  conf = 1,  sup = 2.

c2 ( d2   with  conf = 1,  sup = 2.
Second loop (building terms of length 2 from terms that have not been marked):
(a1(b2)*
= {x1, x3}
conf [(a1(b2)* ( d1*] = ½ ( (  (not marked)






conf [(a1(b2)* ( d2*] =  ½ ( (  (not marked)
(a1(c1)*
= {x1, x4}
conf [(a1(c1)* ( d1*] =  ½ ( (  (not marked) 







conf [(a1(c1)* ( d2*] =  ½ ( (  (not marked)
(a3(b2)*
= {x6}
(a3(b2)* ((d2*    marked
(a3(c1)*
= (

marked, but the set will not produce any rule

(b2(c1)*
= {x1}
(b2(c1)* ((d1*    marked
Rules from the second loop:

a3(b2 ( d2  with  conf = 1, sup = 1.

b2(c1 ( d1  with  conf = 1, sup = 1. 
Third loop (building terms of length 3 from terms of length 2 and length 1 that have not been marked):

(a1(b2(c1)*
 is not considered as superset of  (b2(c1)* which was marked.
LERS-LEM2 algorithm 

(with minimum confidence threshold)
System S:

	
	a
	b
	c
	d

	x1
	a1
	b2
	c1
	d1

	x2
	a3
	b1
	
	d1

	x3
	a1
	b2
	c2
	d2

	x4
	a1
	
	c1
	d2

	x5
	a2
	b1
	c1
	d1

	x6
	a3
	b2
	c2
	d2


Dom(a)
= {a1, a2, a3}  -  classification attribute

Dom(b)
= {b1, b2}  -  classification attribute
Dom(c)
= {c1, c2}   -  classification attribute 

Dom(d)
= {d1, d2}  -  decision attribute

Assume minimum confidence threshold:  (  =  ¾.

Classes related to attribute d:

d1*
= {x1, x2, x5}

d2*
= {x3, x4, x6}

First loop:

a1*
= {x1, x3, x4}
a1* ( d1*   (not marked)







a1* ( d2*   (not marked) 

a2*
= {x5}


a2* ((d1*     marked
a3*
= {x2, x6}

a3* ( d1*  (not marked)







a3* ( d2*  (not marked) 

b1*
= {x2, x5}

b1* ((d1*     marked 
b2*
= {x1, x3, x6}
b2* ( d1*  (not marked)







b2* ( d2*  (not marked)

c1*
= {x1, x4, x5}
c1* ( d1*  (not marked)







c1* ( d2*  (not marked)

c2*
= {x3, x6}

c2* (( d2*   marked
Rules from the first loop:


a2 ( d1   with  conf  = 1.


b1 ( d1   with  conf = 1.


c2 ( d2   with  conf = 1.

Second loop (building terms of length 2 from terms that have not been marked):

(a1(b2)*
= {x1, x3}
(a1(b2)* ( d1*  (not marked)







(a1(b2)* ( d2*  (not marked)

(a1(c1)*
= {x1, x4}
(a1(c1)* ( d1*  (not marked) 







(a1(c1)* ( d2*  (not marked)

(a3(b2)*
= {x6}
(a3(b2)* ((d2*    marked
(a3(c1)*
= (

marked, but the set will not produce any rule

(b2(c1)*
= {x1}
(b2(c1)* ((d1*    marked
Rules from the second loop:

a3(b2 ( d2  with  conf = 1.


b2(c1 ( d1  with  conf = 1. 

Third loop (building terms of length 3 from terms of length 2 and length 1 that have not been marked):

(a1(b2(c1)*
 is not considered as superset of  (b2(c1)* which was marked.

Now, from all not marked sets, possible rules satisfying the required threshold are produced.

So, now we check:

conf [(a1(b2)* ( d1*] = ½ ( (  (do not have a rule)

conf [(a1(b2)* ( d2*] =  ½ ( (  (do not have a rule)

conf [(a1(c1)* ( d1*] =  ½ ( (  (do not have a rule)

conf [(a1(c1)* ( d2*] =  ½ ( (  (do not have a rule)

conf(a1* ( d1*) = 1/3 ( (  (do not have a rule)

conf(a1* ( d2*) = 2/3 ( (  (do not have a rule)

conf(a3* ( d1*) = 1/2  ( (  (do not have a rule)

conf(a3* ( d2*) = ½  ( (  (do not have a rule)

conf(b2* ( d1*) = 1/3 ( (  (do not have a rule)

conf(b2* ( d2*) = 2/3 ( (  (do not have a rule)

conf(c1* ( d1*) = 2/3 ( (  (do not have a rule)

conf(c1* ( d2*) = 1/3 ( (  (do not have a rule)
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